
𝑦 + 3 =
1

3
⎯⎯(𝑥 − 2)𝑦 − 1 = 2(𝑥 − 2) 𝑦 − 2 = 2(𝑥 + 1)

𝑦 − 2 = (𝑥 − 1)

𝑦 − 3 = −
2

3
⎯⎯(𝑥 + 1) 𝑦 + 4 = −(𝑥 + 2)

𝑦 + 3 = 2(𝑥 − 1) 𝑦 + 5 =
1

2
⎯⎯(𝑥 + 1)

𝑦 = 2(𝑥 − 1)

𝑦 + 2 = (𝑥)
𝑦 + 2 = −

1

2
⎯⎯(𝑥 + 1) 𝑦 = (𝑥)

Identify the slope and the point of the following equation. 
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Write in slope-point form.

(2, −3), 𝑚 = 4

𝑦 − 𝑦ଵ = 𝑚(𝑥 − 𝑥ଵ)

(1,2), 𝑚 = 2 (−2,3), 𝑚 = 2

(−3,−2), 𝑚 =
1

2
⎯⎯ (1,5), 𝑚 = −

2

3
⎯⎯

(−2,−3), 𝑚 = −2

(−2,−4), 𝑚 = −5 (2,−3), 𝑚 = −1 (−1,−3), 𝑚 =
1

2
⎯⎯

(0,5), 𝑚 = −2

(1,0), 𝑚 = −
2

3
⎯⎯

(6,−2), 𝑚 = −
4

3
⎯⎯

(−1,−5), 𝑚 = 1

(−3,−1), 𝑚 = −
5

4
⎯⎯ (−1,−2), 𝑚 = −6

M10 - 7.3 -  Point/Slope: Find Eq. Slope Point Form HW
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Graph the Following 

𝑦 + 3 =
1

3
⎯⎯(𝑥 − 2)𝑦 − 1 = 2(𝑥 − 2)

𝑦 − 2 = 2(𝑥 + 1)

𝑦 − 2 = (𝑥 − 1)

𝑦 − 3 = −
2

3
⎯⎯(𝑥 + 1) 𝑦 + 4 = −(𝑥 + 2)

𝑦 + 3 = 2(𝑥 − 1) 𝑦 + 5 =
1

2
⎯⎯(𝑥 + 1)

𝑦 = 2(𝑥 − 1)

𝑦 + 2 = (𝑥) 𝑦 + 2 = −
1

2
⎯⎯(𝑥 + 1) 𝑦 = (𝑥)

M10 - 7.3 - Graph Slope Point HW

   Gra Lin Page 3    



Find the equations in Slope Point Form of the following lines

M10 - 7.3 - Graph: Find Equation Slope Point Form HW
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